=M (5)  FADAN

UEADAR,  cos2a =1—2sin’a cos2a =2cosla—1 RZEWLT

2sinla _ 1—cos2a

2sin?a =1—cos2a 2cos?a =14 cos2a — =
2cos?a 14 cos2a

FEEDAR X JETY) DEEaTY,

. 1—cos2a 14 cos2a 1—cos2a
' 2 2 2 l
@ sina =7 ® cos’a = ® tanla= T cos%a

XERETIR, A % % TEETZ-DIZ, LD a % % IZEXHZT

sa l—cosa

. ,a l—cosa ;& _ l+cosa a
O @ cos ® 2 l4cosa

S =—""7 2= 2

ELTW5, BEDEREIZEDETHENRTTIZXWN,

tan

IRE 1] f(6) =sin?6 +sin @ cosf +2cos?d <0§0§%> DEXREL B/IMEEZ KD X,



B4 /(0) =8./3 cos? 0 +6sind cosd +2/3sin’0 (0<0 <) DEAEL BMERRD &,



